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(GCF-2,3,4,5,6, VCF-1,2, VDCF-1,2 & SCF-1,2) 
DATE: 06.10.2021 MAXIMUM MARKS: 100  TIMING: 3 Hours 
 

  BUSINESS LAW & BUSINESS CORRESPONDENCE & REPORTING 
 

Question No. 1 is Compulsory. Answer any four question from the remaining five questions. 
Wherever necessary, suitable assumptions should be made and disclosed by way of note 

forming part of the answer.  
Working Notes should from part of the answer.  

 

 

Question 1: 

(a) M us ;g ok;nk fd;k og N mldh lsok ds fy, Hkqxrku djsxk ij lsok M dh bPNk ds vuqlkj 

mfpr rFkk U;k;iw.kZ gksxh vkSj og gh bldk fu.kZ; djsxkA Hkqxrku feyus ij N ml Hkqxrku ls 

lUrq"V ugha gksrk gS vkSj og M ds fo:) nkok djuk pkgrk gS ;g fu.kZ; djks fd D;k N, M ij 

Hkkjrh; vuqca/k vf/kfu;e] 1872 ds izko/kkuksa ds vuqlkj nkok dj ldrk gS\ 

(2 Marks) 

 

(b) dEiuh ds vkoj.k dk fl)kUr crk,s o fdu ifjfLFkfr;ks esa bls csudkc fd;k tk ldrk gS\ 

(6 Marks) 

 

(c) ,d lk>snkj ds Hkkx dks izkIr djus okys O;fDr gLrkUrfjrh ds vf/kdkj crk,W\ 

(4 Marks) 

 

Question 2: 

(a) ^^vuqca/k dh fof’k"Brk dk fl)kUr^^ ds ckjs esa crk,s o fu;e ds vioknksa dk Hkh o.kZu djsa\ 

(7 Marks) 

 

(b) lqJh izhfr ,d dkj dh Lokeh Fkh tks fd ml dks Jh tks'kh dks nsrh gS ^^dz; ;k okilh** ds vk/kkj ij] 

,d lIrkg ckn Jh tks'kh ml dkj dks Jh x.ks'k dks fxjoh j[k nsrs gSaA lqJh izhfr viuh dkj Jh 

x.ks'k ls okfil ekaxuk pkgrh gSA oLrq fodz; vf/kfu;e ds lanHkZ esa fu.kZ; ysa D;k lqJh izhfr dks dkj 

okfil izkIr gksxhA  

(5 Marks) 

 

Question 3: 

(a) J fQ,V dkj dk ekfyd viuh dkj cspuk pkgrk FkkA bl mn~ns'; ls og viuh dkj P ,d vfHkdrkZ 

dks lkSairk gS] vkSj dgrk gS dher de ls de #i;s 50]000 gksA ,stsUV dkj #i;s 40]000 esa A dks 

csp nsrk gSa tks ln~fo'okl esa dkj [kjhnrk gS] vkSj mls fdlh diV dh lwpuk Hkh ugha gSA P iSlks dk 

xyr bLrseky djrk gSA J dkj dh olwyh ds fy, ij eqdnek djrk gSA D;k J lQy gksxkA  

(6 Marks) 

 

(b) lk>snkjh ds fofHkUu izdkjksa ds ckjs esa crk,sa\ 

(6 Marks) 

 

Question 4: 

(a) ,YQk Ldwy us 01-04-2010 dks f’k{kk nsus dk dk;Z vkjEHk fd;k vkSj mldk ,d ek= mn~ns’; xjhc 

fo|kfFkZ;ksa dks fcuk fdlh ykxr ij ;k cgqr dh de ykxr ij f’k{kk iznku djuk FkkA 30-03-2018 dks 

ljdkj us ;g ik;k fd dEiuh dks /kkjk 8 esa iathd`r fd;k x;k Fkk vkSj dEiuh vc /kkjk 8 ds 

izko/kkuksa dk ikyu ugha dj jgh gS vkSj vius mn~ns’; okD; esa fy[ks x;s mn~ns’;ksa dk mya?ku Hkh dj 

jgh gSA dEiuh vf/kfu;e 2013 ds vuqlkj crk,sa fd D;k dsUnz ljdkj ,YQk Ldwy ij D;k dk;Zokgh 

dj ldrh gS\ 

(4 Marks) 



MITTAL COMMERCE CLASSES    CA FOUNDATION– MOCK TEST 

2 | P a g e  
 

 

(b)  iwokZf/kdkj o eky dks jkLrs esa jksdus ds vf/kdkj esa vUrj crk,s \ 

(4 Marks) 

 

(c) ABC izkbosV fy- ,d futh dEiuh gS ftlesa 5 lnL; gSA lHkh lnL; fdlh dk;Z ds lEca/k esa dkj 

}kjk eqEcbZ tk jgs FksA ,d nq?kZVuk ds dkj.k lHkh lnL;ksa dh e`R;q gks xbZA dEiuh vf/kfu;e] 2013 ds 

izko/kkuksa ds vUrxZr crkb, fd D;k dEiuh dk vfLrRo Hkh lekIr gks x;k \ 

(4 Marks) 

 

Question 5: 

(a) Jherh xhrk us LFkkuh; pkoy vkSj xsgwa dh Fkksd nqdku esa tkdj 100 fdyksxzke cklerh pkoy ekaxkA 

nqdkunkj us bldh dher #i;s 125 çfr fdyks ds cjkcj crkbZ] ftlds fy, og lger gqbZA Jherh 

xhrk us tksj nsdj dgk fd og bl rjg dh [kjhn ij lgefr nsus ls igys nqdkunkj }kjk mls D;k 

çnku fd;k tk,xk] bldk uewuk ns[kuk pkgsaxhA 

nqdkunkj us mls uewus ds rkSj ij ,d dVksjh pkoy fn[kk;kA uewuk okLro esa iwjs eky ds vuq:i FkkA 

[kjhnkj us bl rF; dh vksj /;ku fn, fcuk uewuk dh tkap dh fd Hkys gh uewuk cklerh pkoy dk 

Fkk] ysfdu blesa yacs vkSj NksVs vukt dk feJ.k FkkA 

cSx [kksyus ij jlksb;k us f'kdk;r dh fd ;fn pkoy dh xq.koRrk idoku ds vuqlkj ugha gksxh rks 

pkoy ds lkFk rS;kj idoku dk Hkh Lokn vPNk ugha gksxkA   

vc Jherh xhrk foØsrk ds f[kykQ /kks[kk/kM+h dk eqdnek ntZ djuk pkgrh gS vkSj ml ij vPNs vkSj 

lLrs DokfyVh ds pkoy feykdj cspus dk vkjksi yxkrh gSA D;k og lQy gksxh\ 

oLrq fodz; vf/kfu;e 1930 ds rgr uewuk }kjk fcØh ij ewy dkuwu dh O;k[;k djsa\ 

oLrq fodz; vf/kfu;e 1930 çko/kkuksa ds vuqlkj f'kdk;r fuokj.k ds fy, dzsrk ds ikl D;k fodYi gS 

crkbZ;s\   

Jherh xhrk us pkoy dh yackbZ ds :i esa ;fn mldh lVhd vko';drk fufnZ"V dh gksrh rks ml 

ekeys esa vkidk tokc D;k gksrk\  

(6 Marks) 

 

(b) LLP ds lekesyu ds fofHkUu pj.k crk,sa\  

(6 Marks) 

 

Question 6 

(a) Øsrk }kjk mifoØ; ;k jsgu dk D;k izHkko iMrk gS\ 

 (6 Marks) 

 

(b) M fy- us 'kkfUr VªsMlZ dks dqN e’khusa :- 11-50 yk[k esa 30-06-2004 rd cukdj nsus dk vuqca/k 

fd;kA M fy-] 'kkfUr VªsMlZ dks gMrky ds dkj.k e’khu cukdj ugh ns ldkA ckn esa 'kkfUr VªsMlZ us 

fdlh nwljs fuekZrk ls :- 12-50 yk[k esa e’khu [kjhnhA 'kkfUr VsªMlZ dks tSfuFk VsªMlZ ds lkFk fd;s 

x;s le>kSrs dks Hkh tks mlus M fy- ds lkFk fd, x;s le>kSrs ds le; fd;k Fkk] iwjk djus ls jksdk 

x;k rFkk mUgsa vuqca/k Hkax ds fy, gtkZuk nsus ds fy, ck/; fd;k x;kA 'kkfUr VªsMlZ dks lykg nhft, 

fd os Hkkjrh; vuqca/k vf/kfu;e] 1872 ds izko/kkuksa ds vuqlkj fdruk gtkZuk M fy- ls olwy dj 

ldrs gS\ 

(6 Marks) 
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PAPER : BUSINESS CORRESPONDENCE & REPORTING 
 

The Question Paper comprises of 5 questions of 10 marks each.  
Question No. 7 is compulsory. Out of questions 8 to 11, attempt any three. 

 

 

SECTION-B : BUSINESS CORRESPONDENCE & REPORTING (40 MARKS) 

 

Question 7: 

(a) Read the passage carefully and answer the questions that follow: 

 A sanctuary may be defined as a place where Man is passive and the rest of Nature 

active. Till quite recently Nature had her own sanctuaries, where man either did not 

go at all or went only as a tool-using animal in comparatively small numbers. But 

now, in this machine age, there is no place left where man cannot go with 

overwhelming forces at his command. He can strangle to death all the nobler wild life 

in the world to-day. Tomorrow he certainly will have done so, unless he exercises 

due foresight and self-control in the mean time. 

 There is not the slightest doubt that birds and mammals are now being killed off 

much faster than they can breed. And it is always the largest and noblest forms of 

life that suffer most. The whales and elephants, lions and eagles, go. The rats and 

flies, and all mean parasites, remain. This is inevitable in certain cases. But it is 

wanton killing off that is of concern. Civilized man begins by destroying the very 

forms of wild life he learns to appreciate most when he becomes still more civilized. 

The obvious remedy is to begin conservation at an earlier stage, when it is easier 

and better in every way, by enforcing laws for close seasons, game preserves, the 

selective protection of certain species, and sanctuaries. 

 I have just defined a sanctuary as a place where man is passive and the rest of 

Nature active. But this general definition is too absolute for any special case. The 

mere fact that man has to protect a sanctuary does away with his purely passive 

attitude. Then, he can be beneficially active by destroying pests and parasites, like 

bot-flies or mosquitoes, and by finding antidotes for diseases like the epidemic which 

periodically kills off the rabbits and thus starves many of the carnivores to death. 

But, except in cases where experiment has proved his intervention to be beneficial, 

the less he upsets the balance of Nature the better, even when he tries to be an 

earthly Providence. 

1. What can man do to avoid killing all wild life in the future? 

(a) Experiment more 

(b) Have a foresight 

(c) Maintain self-control 

(d) Both a and b  

(1 Mark) 

2. What according to the author is a sanctuary? 

(a) A place where Man is active and so is Nature 

(b) A place where Man is passive and so is Nature 

(c) A place where Man is passive but Nature is active 

(d) A place where Man and Nature do not co-exist. 

(1 Mark) 

 

3. What according to the author can lead to the death of carnivores? 

(a) Finding antidotes for epidemics, which might kill animal that are food 

for carnivores 

(b) Conservation at a later stage 

(c) Carnivores can die anytime. 

(d) Man is egoistic and wants to be powerful than carnivores.  

(1 Mark) 
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4. Find the word in the passage that means ‘unprovoked’ or ‘deliberate’ 

(a) Beneficially 

(b) Wanton 

(c) Inevitable 

(d) Providence  

(1 Mark) 

5. What does the author mean by the phrase ‘earthly Providence’ in the last line 

of the passage? 

(a) The Earth is God. 

(b) Man is inferior to God. 

(c) God will not take care of the Earth 

(d) Man wants to be like God on Earth.  

(1 Mark) 

(b) What is visual communication?  
(1 Mark) 

(c)  (i)  Choose the word which best expresses the meaning of the given word. 

  Contingency 

  (a) Existence        

  (b)       Evidence        

  (c)       Rebel   

  (d)      Emergency  

(1 Mark) 

(ii) Select a suitable antonym for the word given in question. 

Proximity 

(a) Approximation  

(b) Assumingly  

(c) Remoteness  

(d) Cure  

(1 Mark) 

(iii) Change the following sentences into passive voice. 

 Who wrote this essay?  

(1 Mark) 

(iv) Change the following sentences to indirect speech. 

 Sheila said, ‘How smart Seema is’ 
(1 Mark) 

Question 8: 

(a)  Draft a Memo informing the staff about the dismissal of the Sales Head on being 

proved guilty of charges of misappropriation of funds/accounts.  
(5 Marks) 

(b)  What is network in communication?  
(1 Mark) 

(c)  (i)  Choose the word which best expresses the meaning of the given word. 

Inherent 

 

(a) Intrinsic    

(b) Inevitable    

(c) Innovation    

(d) Intent  

(1 Mark) 

(ii) Choose the appropriate antonym (opposite) for the word  

Serene 
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(a) Valley  

(b) Young  

(c) Unrest  

(d) Harmless  

(1 Mark) 

(iii) Change the following sentences into passive voice 

  Rajesh uses a pen to sketch figures.  

(1 Mark) 

(iv) Change the following sentence to indirect speech. 

  Elders always say, ‘If you work hard, you will succeed.’  

(1 Mark) 

Question 9: 

(a)  Write an Article of about 250-300 words on the topic “What is more important—

Physical fitness or Mental fitness?  

(5 Marks) 

(b) Explain briefly the characteristics of effective communication.  

(2 Marks) 

(c)  (i) Select the suitable antonym for the given word: 

  Vigilant 

  (a) Careful  

  (b) Curious  

  (c) Concerned  

  (d) Inattentive  

(1 Mark) 

 (ii) Rewrite the following sentences in active voice 

Work could be done by us only by next week.  

(1 Mark) 

(iii) Change the following sentence into Indirect speech. 

Teacher said, ‘Please use a blue pen for your homework’  
(1 Mark) 

Question 10: 

(a)  Write a précis and give appropriate title to the passage given below. 

 After years of questioning the potential health hazards of second hand cigarette smoke, 

a growing number of scientists and health officials are becoming persuaded that the 

dangers are real, broader than once believed and parallel those of direct smoke. 

 It has long been established that smoking harms the health of those who do the 

smoking. Now new epidemiological studies and reviews are strengthening the evidence 

that  it also  harms the health  of other people nearby who inhale the toxic fumes 

generated by the smoker, particularly from the burning end of the cigarette. Such 

indirect, or second hand, smoking causes death not only by lung cancer, but even more 

by heart attack, the studies show. The studies on passive smoking, as it is often called, 

also strengthen the link between parental smoking and respiratory damage in children. 

 What has swayed many scientists is a remarkable consistency in findings from 

different types of studies in several countries with improved methods over those 

used in the first such studies a few years ago. The new findings confirm and advance 

two landmark reports in 1986 from the Surgeon General, who concluded that passive 

smoking caused lung cancer, and from the National Research Council, which said 

passive smoking is associated with lung cancer. 

 ''The links between passive smoking and health problems are now as solid as any 

finding in epidemiology,'' said, an expert in the epidemiology of smoking at the 

University of California at San Diego.  
(5 Marks) 
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(b)  What do you mean by completeness in effective communication?  
(1 Mark) 

(c)  (i) Choose the word which best expresses the meaning of the given word. 

Embezzle 

(a) Shine  

(b) Steal  

(c) Busy  

(d) Shocked  

(1 Mark) 

 (ii) Select a suitable antonym for the word given in question. 

Applaud 

(a) Organize  

(b) Compose  

(c) About 

(d)  Condemn 

(1 Mark) 

 (iii)  Change the following sentences into passive voice.  

 You should write an apology letter.  

(1 Mark) 

 (iv)  Change the following sentences to indirect speech.  

 Uncle said, ‘I am unwell’ 
(1 Mark) 

Question 11: 

(a)  As the Manager, HR of Net Solutions Ltd, Mumbai, draft a complaint letter to the  

Administration Head of Food for you Solutions, Mumbai, stating your concern about 

the bad quality of food being supplied to your company’s cafeteria. 

(5 Marks) 

(b)  What is nonverbal communication? Explain its types. 

(2 Marks) 

(c)  (i) Select the suitable antonym for the given word: 

  Concealed 

  (a) To hide  

  (b) Uninteresting  

  (c) Known  

  (d)  Related 

(1 Mark) 

 (ii)  Rewrite the following sentences in active voice 

   A conservative lifestyle was led by women in olden days. 

(1 Mark) 

 (iii)  Change the following sentence into Indirect speech. 

   The girl asked, ‘Where do you live’? 

(1 Mark) 

 

 

 

__**__ 


